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Gleise im Bahnübergang
unverändert! 
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Planfeststellungsgrenze (PFG) 

Planfeststellungs-

grenze (PFG) 

Bauwerk 1
Unterführung der Bahnlinie S 18
unter L 34
 
Strecken-km Bahn 3.282,4568
LW = 9,50 m                                            < 307,5624g 
LH > 5,70 m                                            KH + Blg. = 0,88 m
Br. zw. Gel. = 60,05 m                           Lastannahme
                                                                 DIN Fachbericht 101
                                                                 Lastmodell LMM 
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Anschluss an Bestand 
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Arbeitsfläche 

Vorgebirgsbahn (Linie 18) 
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